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Question

The web service stub crashes with an “Not all data was written” error message?

Answer

The “16: recvchunk: saveproc: Not all data was written!” error message is sent by the
HTTP API when a user written save procedure failed to save the data that was just
received from the server.

The WSDL2RPG web service stubs use their own special save procedure to analyze
the data received from the server. Depending on the format of that data, the
procedure either forwards the data to the MIME decoder, or directly to the eXpat
parser. This is done by procedure HTTP_receiveResponse ().

Therefore the “Not all data was written!” error message is just the final message that
you see. But it does not explain what went wrong. For example the core problem
might be one of these possible errors, or something completely different:

e Range of subscript value or character string error.

e Division by zero

e Value too large

¢ Invalid numeric number format

¢ Invalid xml document received from server

e Unexpected data received from server

e Unexpected Soap element received from the web service
e efc.

General Troubleshooting

In order to determine the actual problem you should review the job log. If there is
nothing that points to the problem, you should enable the HTTP API debug log,
recompile your program and call the web service again:

WebServicePortName_Port_setHttpDebug (
*ON: 'PathToYourDebugLogFile.log')

Hopefully, the log will reveal the cause of the problem.



Sample 1: MCHO0603 - Range of subscript value or character string error

The first thing you should do, after having noticed the “Not all data was written” error
message, is to have a close look at the job log:

DSPJOBLOG
Then press F10 for “Display detailed messages” and F18 to get to the bottom of the
list of messages. Now you should see something similar to this:

Display All Messages

System:
Job . . ¢ W5B2115883 User . . : RADDATZ Number . . . @ 628283

Press F1 for additional message information.

>> call INEWSBB3TG
Range of subscript value or character string error. ]
16 recvdoc: saveproc: Not all data was writtenl
-1889: Range of subscript value or character string error.
16: recvdoc: saveproc: Not all data was writtenU
-1889: Range of subscript value or character string error.

Bottom
Press Enter to continue.
F3=Exit F5=Refresh F12=Cancel F17=Top F18=Bottom
| K] » a 5/1

1,1 Ao 161 5250-Terminl

HUM

Now that you have identified the actual error, move your cursor to the error message
and press F1 to get additional information for the message:



Additional Message Information

Message ID . MCHB683 Severity . 40
Message type . Escape

Date sent 81.82.12 Time sent 11:48:28
Message . Range of subscript value or character string error.

Cause . Either the subscript value is less than the lower bound of

the array. or greater than the upper bound of the array, or the compound
operand defined a character string outside the bounds of the base character
string. The instruction ended.

Bottom
Press Enter to continue.

F3=Exit F6=Print (F9=Display message details)
F21=Select assistance level

F12=Cancel

| ] » a 1/1

1BM 5250-Terminal

UM

Since there is nothing interesting here you can go on with F9 to get the message

details:
Display Message Details
Message ID . MCHB683 Severity . 40
Date sent 81.82.12 Time sent 11:48:28
Message type . Escape
From . RADDATZ CCSID 65535
From program . INEWSB83
From library . RADDATZ
From module g INEWSBB381
From procedure . sB_anyTypeRefStart_of_sB _CityStateToZipCo
deResult
From statement . 1853
More. ..
Press Enter to continue.
F1=Help  F3=Exit F12=Cancel
B > a 1/1
1,1 = 1BM 5250-Terminal UM

Here you get the next pieces of the puzzle:

e the name of the module the message came from

e the RPG statement number the message was sent from



Having this information, please open the source member and go to the specified line
number:

Colums . . . : 6168 Brouse RADDATZ /QHSDL2RPG
SEU==> INEWSBa3a1
FHT # %1 o+ 02 v 3 v o4 v b L+ B e 0T B e 0B

010,42 Ba6aaa

8818.43 /{ Get access to current array item BB6aa8

818,44 if (MultiRef_doCaptureData() and MultiRef_hasItemIndex()); BARAAR

81045 % = MultiRef_getItemIndex(); BapaRA

#810.46  else; BapaRA

81047 if (depth = 1); BaBaRA

0018.48 sB_anyTupe.x = sB_anyType.x + 1; Baeaee

#a10.48 endif; BARARA

8018.58 % = sB_anyType.x; BB8aa8

81851 endif; BapaRA

e10.52 BapaRA

B018.53)  pCurrentIten = %add-(58_anyTyps. i tem(x)); 60rae

8818.54 896600

8818.55  select; BARARA

8818.56  when (depth = 1 BARAAA

81857 and BapaRA

6018.58 name = "anyType' 0eEaBe

fe10.59 and BapARA

ae10.68 namespace = http://ww.ripedev.con/'); BEpARa

@a10.61 it (MultiRef_isReference(attrs)); BABAAA

F3=Exit Fb=Refresh FO-Retrieve F18=Cursor F11=Toggle F12=Cancel

F16-Repeat find F24=Hore keys

B » "
1,1 Ak IBM 5250-Terminal UM

Now it is clear that “s0_anyType .item” is an array with too less elements. In other
words: The web service sent more elements that the stub module could place into
that array. Hence you have to slightly increase the number of elements to a more
reasonable value. But first you have to find the reference field. Therefore go to the
top of the procedure watching for the statement where “s0_anyType” is defined:

Colums . . . : 6108 Brouse RADDATZ /QHSDL2RPG
SEl==> INEWSEB381
FHT D DName+++++++++++ETDSFrom++To/L+++I0c. Keywords Comments

8818.22 D userdata ¥ value BaBaE8

8018.23 D depth 181 B value BapaRA

8818.24 D namespace 18240  varying const Be6AAR

8818.25 D name 18240 varying const Baeaee

8818.26 D path 24576  varying const Be6aa8

#818.27 D attrs *  dim(32767) BARAAA

#318.28 D const options(#varsize) 886380

ge10.29 BapaRA

8108.38 D x § 18I B inz BaBARA

010,31 * 896600

@ma.32(D sB_anyType DS Iikeds AAgamA

8818.33|D based(userdata BB8aa8

8810341 * BapaRA

@8810.35 D currentItem  § I ike(sB_anyTypeRef_t) 686880

881836 D based (pCurrentIten) B3B38

8010.37 = 896600

8818.38 D emptyItem H I ike(s8_anyTupeRef_t) BERARA

818.39 D inz BARAAA

BBIB.48 ® - - - - - - - - - - - - - oo s m e m o - BapaRA

8810.41 /free BapaRA

F3=Exit Fb=Refresh FO-Retrieve F18=Cursor F11=Toggle F12=Cancel

F16=Repeat find F24=Hore keys

B a 2/8
1,1 I 16M 5250-Terminal HUM




Since all reference fields are defined in the stub module, you have to open it to get to
the reference field:

Colums . . . : 6168 Brouse RADDATZ /QHSDL2RPG
SEl== INEWSBa3a1
FHT # w1 o+ 02 v 3 v o4 v b L+ B e 0T B e 0B
8010.29 * Ba6aaa

8818.38 D x $ 18I 8 inz BARARA

#818.31 BARAAA

B918.32 D sB_anyType DS Iikeds AEEaE

8818.33 D based(userdata BeBaes

8810.34 * BaBaRA

8818.35 D currentItem  § | ike(s8_anyTupeRef_t) 62388

8818.36 D basad (pCurrentItem) BERARA

#818.37 BARAAA

Colums . . . : 6168 Brouse RADDATZ /QHSDL2RPG
SEll== THEWSBA3
8883.08( * 896600

86884.00|D sB_RpgArrayOfAnyType_t. .. BB6aa8

888508 D 15 template BARAAA

868608 D qual ified BapaRA

687.08(D « 101 8 BapaRA

08A8.88(D item I ike(s8_anyTupeRef_t) B3B38

£689.08|D dim 26608

630881 _* BARARA

F3=Exit Fb=Refresh FO-Retrieve F18=Cursor F11=Toggle F12=Cancel

F16-Repeat find F24=Hore keys

String sB RpoA. .. found.

B a 1/85
1,1 = 1BM 5250-Terminal UM

Voila, you got it! Constant DIM_A1 specifies the number of items of the
“s0_anyType.item”. The last step to do is to change that constant to match your
actual needs:

Colums . . . : 6168 Brouse RADDATZ /QHSDL2RPG
SEl== TNEWSBR3
FHT ® w1 o+ 02 v 3 v v b L+ B e 0T B e BB

0082.08 Ba6aaa

8883.08 * BARARA

8884.88 D sB_RpgArrayOfAnyType_t. .. BB8a88

#985.08 D D$ template BapaRA

6686.08 D qual ified BapaRA

8687.08 D« 161 8 BaBaRA

08B88.88 D item like(s8_anyTupeRef_t) 62388

#889.08 D dimd BARARA

#630.08 * BARAAA

Colums . . . : 6168 Brouse RADDATZ /QHSDL2RPG
SEU==> THEWSBA3
8024.08 /COPY QWSDL2RPG, PHSDL2REE HSDL2RPG: AppMsg 896600

855.08 * BARARA

B856.88( *  Array dimensions: BB8a88

8B57.08|D DIM_A1 ¢ 12 626201

658.08 * BapaRA

0859.08 % Heb Service specific types: BA6ARR

0060.00 D s8_anyTypeRef_t... Baeaee

#B61.608 D $ 128 varying BARARA

F3=Exit Fb=Refresh FO-Retrieve F18=Cursor F11=Toggle F12=Cancel

F16-Repeat find F24=Hore keys

B a 1841
1,1 Ak IBM 5250-Terminal UM




Sample 2: RNX0105 — A character representation of a numeric value is in error

Beside the job log you should also look at the HTTPAPI debug log. Starting with
v1.15 WSDL2RPG places additional debug information into that log for some errors.

For a RNX0105 error message the job log may look like this:
Display All Messages

System:
Job . . ¢ HW5@2115801 User . . @ RADDATZ Number . . . : 649981

>> CALL PGM(PMRBB7BT)
(A character representation of & numeric value is in error. )
(Failed unmarshalling value 'al  of array item index(1)'. )
16: recvchunk: saveproc: Not all data was written
-1889: Failed unmarshalling value 'al' of array item 'index(1)'.
16: recvchunk: saveproc: Not all data was written
-1889: Failed unmarshalling value 'al’ of array item 'index(1)'.

Bottom
Press Enter to continue.
F3=Exit F5=Refresh F12=Cancel F17=Top  F18=Bottom
[ | > a 5/1

51 Ak 1BM 5250-Terminal UM

The messages enclosed with a brown frame are what you get back to the command
line, if you used the generated test program to call the web service.

The message with the green frame is the message which was captured by
WSDL2RPG and appended to the HTTPAPI debug log.

The message with the red frame is the original error message that was send by the
RPG runtime.

Hopefully you had enabled the debug log before you called the web service. If you
did not do that, please enable the debug log and call the web service again:

MonthList_Port_setHttpDebug (
*ON: '/home/raddatz/wsdl2rpg/PMRO07B.1log"');



With the debug log enabled you can take advantage from the additional debug
information that has been appended to the HTTPAPI debug log as shown below:

¥ PMROOYB. Ing - Notepad:+

Datei Bearbeten Suchen Ansicht Kodierung Sprachen Einstelungen Makro Ausfihren TextFX Erweiterungen Fepster 7 #
o = sl | 4 O g % x|E = EAVvEHGY
[= PMRO07B.lng
93 chunk size = 1385 '_\
24  get_chunk_size returned 1368
95 calling comm blockread
96 <7xml wersion="1.0" encoding="UTF-8"?-<sospenv:Envelope znlns:sospenv="http://schemas.xnlsoap.ory/soap/envelopes" xmlns:xsd="http: / wm. we. orgsi
37  comm _blockread returned 1365
98 ** 20l2-02-02-13.50.06.705000: Entering HTTP receiveResponsei)
EE
100 WSDLZRPG: call stack frames:
10l Program Library Act.Group  Statement  Procedure
1oz QUOCER 1338 +DFTACTERP #0730
103 QUOMATH [ik38 +DFTACTERP /0603
104 QUOCHD [ +DFTACTERP /0102
105 PMROOTBT RADDATZ +NET _QRNP_PEP_IMROOTET
106 PMROOTBT RADDATZ +NET 3800 PMROOTET
107 PMROOTE RADDATZ *NEW 58 Monthlist_getMonthsSiuple
102 HTTPAPIR4  LIBHTTP *NEW 5343 HTTP_URL_POST RAUZ
103 HTTPAPIR4 LIBHTTP *HEW BEE4 HTTP_PERSIST POST
110 HTTPAPIR4  LIEHTTP *NEU 4142 DO_OPER
11l HTTPAPIR4  LIEHTTP *HEU 4468 RECVCEUNK
11Z  PMROOTB RADDATZ ~NEU 1185 HITP_receiveResponse
11% WSDLERPGRT  RADDATZ *NEU 100100 WSDLZRST_XMLSAXParser parse
114  EXPAT LIBHTTP *HEU 26 XML Parse
115  EXPAT LIBHTTP *HEU 14 XML_ParseBuffer
116 EXPAT LIBHTTP *NEU 5 prologInitProcessor
117  EXPAT LIBHTTP *NEU E prologProcessar
115  EXPAT LIBHTTP *NEU 130 deProlag
115 EXPAT LIBHTTP *NEU 1 contentProcessor
120 EXPAT LIBHTTP *NEU 193 doContent
171 WSDLZRPGRT  RADDATZ +NE 235300 endElenent
12z PMROOTB RADDATZ *NEW 1018 impl_MonthEnd_of_impl_getMonthsZimpleResponse
123 WSDLZRPGRT  RADDATZ *NEW 126300 WEDLZRIS_UnMarshaller tolnt
1za WEDLZRPGRT RADDATZ *HEW 35z00 WSDLZRS0_AppMsy sendEscMsgindDump
1zs WEDLZRPGRT RADDATZ *HEW 33200 WSDLZR71_http Debuglog dumpCallStack
126 WSDLERPGRT  RADDATZ *HEU 20200 WSPLZRS0_CallStack dunp
127
1z8
129 (WSDLZRPG: USRS0Z4: Failed wmarshalling value 'al' of array item 'index(l)'.
130 Cause . . . . . : The following error message prevented the walue of field 'index' from being retrisved from XPath '/getMor
131 received from procedure: BASICSLRL_f_sndPguMsy
132 and statement: 54400
123 |WSDLZRPG (eXpat error): (-1009) Failed wnmarshalling value 'al' of array item 'index{(l)'.
134
135 receiwed at line: 1
136 at column: 348
137 from procedurs: WSDLZRO? MMLEAXParser_parse
138 and statement: 101800
125 **% 2012-02-02-13.50.0%.526000: Failed parsing XML message
140 ** 2012-02-02-13_50.0%9.526000: Leaving HTTP_receiveResponse()
141 (FevError(] $l6: recvchunk: saveproc: Net all data was written ) 3
14z  http close(): entered &
& ) E
Mormal kext file length : 7210 lines : 143 Ln:123 Col:77 Sel:D Dosiwindows ARSI INS

Do you miss the original error message that was sent by the RPG runtime? Well, it is
there. Just scroll to the right to see it:

Iog - Notepad++

Datei Bearbeiten Suchen Ansicht Kodierung  Sprachen  Einstellungen  Makro  Ausfihren TextFX  Erweiterungen  Fenster 7 H
PR sle @ |4 M il 2% EavEHGYS

FMRO07E log 1

127 ~
1z8

129

130 |rom being retrieved from XPath '/getMonthsSimpleReturn/index
131

132 v
< | b3

(Hessage text . : A character representation of a numeric value is in exror.)

Mormal ket File length : 7210 lines : 143 Ln:123 Col:77 Sel:0 DosiWindows AMST NS




Your comments are important to me! Please send me your comments about this
FAQ. | will greatly appreciate it.

thomas.raddatz@tools400.de




